71.54+(-5)=0
72.6+ (—6) =0
73.—-8 — 8 = (—16)
74.(—4) — 4 = (-8)
75.3x(—3) = (—9)
76.—2x2 = (—4)

77.12:(=12) = (1)
78.(~14): 14 = (1)
79.13 — 10 = 3,(=3)
80.15—9 = 6, (—6)
81.20 — (—4) = 24, (—24)

82.10 — (—4) = 14, (—14)
83.—3+ 7 = (=10), 10
84.5 + (=34 = (—39),39



9
3811+2—12
« A 3_ 3
21 5 5
23756
3+5_9+5_14
2 6 6 6 6
3911+1—11
« A 2_ 2
23 3.9
22712
34 9 16 27 _
3 4 12 12
4011+3—13
" 4 T4
24 7 28 7
5%2720" 5
34 7_ 3)
‘5 5 \ 5
4111+5—15
6 6
1 11 11
5%

421z+4—24
’ 5 °5
1 14 14
_x_=_
475 720

5 14 25 14

"4 20 20 20

11
20




X
5 2 15 20_( 5)
10 3 30 30 \ 30

2

3

7 (5) 3 (15)
—=|-=)x=-=—-=
3 3 7 21

L 41 3123
'30°7 7 210

3 4 6 10 1

05 10 0T 071
5 5

48.1 _5 15_( 10)_( 1)
10 2 10 10 N

2 (-9)3=(1) 5= (-5)
\71)'27 1) 575
25+2_75+20_95
10 3 30 30 30

15 2 45 20 25

10 3 30 30 30
95 25 95 1 95

330°30°1 ¥25 25
4 9 16 45_61

5220 20" 20

_2 3_( 1)
T4 4\ 4

3

4
3 1.( 1)_61 ( 4)_61 ( 1)_( 61)
200\72) 720" U"1) "5 1)

5115+2 _25+ 2 27
2710 10 10 10



31 15 1 14

2371010 10 10
27_14_27.14_27 1 27

300 11T - 1T 2" 14
5216_*_5 _12+5 _17
st 0 0 0" 10

3 2 15 2 13

‘2710 10 10 10
17 13 17 13 17 1 17

300 11T - 1°3°13

5313 1236
. .IXE—E

11 36 33 108_( 75) 75
"3 10 30 30 30/ ' 30
6 2 16 32

170 10

222 32 44 32_12< 12)
"5 10 10 10 10’\ 10



